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In Year |, this is mmnw lmoJein,alf at QroMps orx Lots ,O/P and we avoid lﬂ,okinq af the
multiplicatiﬁn /SA}mb,ol as this is a more abstroct Lcnf_zpt. We fFﬂ,CM/S on tzazhinq{ multipliﬁatiﬂn
thrauqh concrele ,obf'(zf_t/s and Pidurz rzpm/szntation/s. It is impﬂft,cmt ffmr the children to learn
fhe LDJ’LCZPt 04? multipliﬁaticn bz@om mm\/inq( on to times tahles, which is wh% we do not
introduce times tables in Year |. We teach children o count in multiplz/s ,Off 2.5 and 10 hut
avoid ta“eingr ahout this in terms ﬁ/f 2 X6 =12 When wnrkinq out multiplif_atiﬂn q/uzxsti,on/s,
we mﬂinb\ff teach the children to use arroMs of rzpz,atzd oddition. We also ook at the ,cnnﬁzpt

mf doublinq{ and takk about how it rzprz/sznt/s 2 lots o/f the /st,artinq number.
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Rzpz,a.t,z,d Addition

Addinq{ eoch zq//ual (QQ\/ iOQ/

Group tﬁﬂzthzr in one
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Sometimes arron s and

N 2+2+2=6
rzpzatzd addition are 2+24+24+9=8

waed taqzthzr. 3 groups ,O/F 2ia zq/}ual to 6
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To have 2 lots mf
/s,cmzthinq. We mftzn

MAL b}uttzr{ﬂiz/s or

lad/\}bird/s to mpm/sznt

thie. There are 2 lota ofp L There are 2 lotsa ofp .

L+L =8 5+5=10.
Double I+ is zq//ual to 8. Double S is zq//ual to 0.




